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Q- A shall is fired from a hill of height ‘h’ at an angle of 450.  What is the magnitude of its velocity of projection v as 

a function of its horizontal distance x covered on ground, acceleration due to gravity g and height h?  

 

The height of the hill is h and let the velocity of a rock is v. 

If g is the acceleration due to gravity than the 

horizontal distance x covered from the point of 

projection is given by using the equation of trajectory 

of the projectile as  
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Here taking point of projection as the origin we get 
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